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QUESTION 1

A system administrator needs to backup a WebSphere Application Server profile without disrupting normal operations.
How can the administrator accomplish this?

A. Execute backupConfig.sh -nostop -profileName

B. Execute prnt.sh -nostop -backupProfile -profileName

C. Execute rnanageprofiles.sh -nostop -backupProfile -profileName

D. Use the administrative agent to configure a backup job without stopping the server.

Correct Answer: A

QUESTION 2

A system administrator has completed a WebSphere installation using the IBM Installation Manager. Which tool, using
the default settings, can the administrator use to generate an HTML file verifying the version of WebSphere installed?
Execute the:

A. postinstall command.

B. versioninfo command.

C. genVersionReport command.

D. Installation Verification Tool (IVT).

Correct Answer: C

QUESTION 3

A system administrator needs to connect to a database from an enterprise application where global security is enabled.
What security object should the administrator use?

A. Security certificate

B. J2C authentication alias

C. Basic authentication token

D. Local operating system (local OS) user id

Correct Answer: B
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QUESTION 4

A system administrator needs to remove all of the application scoped resources from an EAR file. Before installing this
application, the administrator should:

A. set the metadata-complete flag to true.

B. remove all of the com.ibm* classes.

C. remove the WEB-INF/ibmconfig folder and all its contents.
D. remove the META-INF/ibmconfig folder and all its contents.

Correct Answer: D

QUESTION 5

A system administrator is creating a new WebSphere cell consisting of three dedicated machines: ?web server
?deployment manager ?application server node To provide process level failover, the administrator should create a
cluster with:

A. no scaling

B. vertical scaling

C. horizontal scaling

D. horizontal and vertical scaling

Correct Answer: B
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